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Test 3

Question 1. Soive for x.
(a) (4 marks)
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Question 2. (4 marks) A girl is 5 years younger than her’ and the product of their ages is 204. Find
their ages using a quadratic equa‘aon
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Question 3. (4 marks) Multiply and simplify:
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Question 4. (6 marks) Multiply, divide and simplify:
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Questiong‘. (5 marks) Subtract and simplify: e
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Qﬁestion & (5 marks) Simplify the complex fraction.
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Questlon 7 ( 5 marks) Last season 2 hockey player scored 4 5 if his goals in the first penod and 1 3 in

the second period. How many goals did he score in the last season in total if he scored 9 goals in
the third period?
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Questions 3 Use the LCD to solve for x:
(a) (5 marks) ‘
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Question §. (3 marks) Solvé for x in the proportion:
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Question 10. (3 marks) The following are similar triangles. Solve for x.
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Question 1}. (4 marks) Two numbers are in the ratio of 5:8. If 9 is added to each number the
resuliing ratio is 8:11. Find the numbers.
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Question 1A Simplify the following:
(a) (2 marks)
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(a) (4 marks)
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Question 173 Multiply and simplify:
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